Education
Paper 11

freruTeTrE
gyusent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

I : A AT TR UAE (50) SguaE wed feae e mwaﬁ?@)
O STed. We WY W

1. The method of teaching according to | 1. fretamergE B ST
Naturalism is : qqa?ﬁ 3R,
(A) Activity method (A) SUHH TEH!
(B) Project method (B) Wehed T
(C) Assignment method (C) Taear qeer
(D) Heuristic method (D) TEEE qgHd!
2. In philosophy, an argument is : 9. TREMRIE R FOS
. e
(A) Factual disagreement
(A) J& STEEHd!
(B) Providing reasons
(B) HROTTHHET
(C) Heated discussion
| (C) aEe ==
(D) Verbal attempt
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Gandhiji’s Philosophy of Education

relates to :

(A) Craft based

(B) Experiment based
(C)' Project based

(D) Experience based

Great educational advances have
always been brought forth by the

great philosopher through :
(A) intuition

(B) inference

(C) information

(D) inclination

Character building as a goal of

education is not emphasised by :
(A) Aristotle
(B) Mahatma Gandhi

(C) Swami Vivekananda

(D) Ay

Wsﬁ_'a:n .................................... ﬂ?ﬁa?:ﬁ
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Exercise, freedom from worldly
desires and surrender to God are the
three main means of control

according to :
(A) Samkhya
(B) Vedanta
(C) Patanjali
(D) Mimamsa

From the following.................. is not

the principle of idealism.
(A) God is the source of all creation

(B) Spirit and mind constitute

reality

(C) Values are eternal, absolute and

unchanging

(D) Man has the ability to solve his

(A) gd THfHd=n ¥ sy 3T

(B) T ® 3 o 9 fifegd seicl 3118

(C) g & T, TR 9 eTfEdE

3TRd

(D) AFETHS FHEA] FSfovarH &

wrenm StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

Aims of Education are formulated

based on :

(A) Content
(B) Method
(C) Values
(D) Knowledge

....................... statement is not related

to basic education.
(A) Life is work and work is worship

(B) Importance of education can be

recognised through work

(C) The personality of the child can
be moulded in the atmosphere

of freedom and fellowship

(D) The brain must be educated

(A) StoF 8 w6 g & ¥ g om
(B) g fRraom= wew siles@el S

(C) Tara=a enfor dAsfurg =r=47
ARG STeiehTs SHekHT Hefaa

S NEX
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10. Logic helps us to arrive at :

11.

(A) Conclusion
(B) Confusion
(C) Contradiction
(D) Contribution

“Truth is made just as health,
wealth and strength are made in the
course of experience” is the

fundamental principle of :
(A) Experimentalism
(B) Pragmatism

(C) Existentialism

11.

yrerdt Fomfor B ey e & fmio
A F A 3 =

(A) HATETE

(B) whrdam

(C) e
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12.

(1)

(2)

(3)

(4)

The matching of Group A with Group

B is :

Group A

Aristotle

Plato

Froebel

Pestalozzi

(A)
B).

(1)
(@)
®)

(@)

)

(d)

Group B

Education develops
in the body and in
the soul of the pupil

Education 1s the
creation of sound

mind in a sound

body

Education 1is the.

natural, harmonious
and prospective
of

man’s innate powers

development

Education is the
through
child

process
which the
makes internal and

external progress

@ 3 (4)
(b) (c) (d)
@ @ ()

12.

(1)

(2) = (b) &Y IR @ 77
ffor weom frer
(3) e (¢c) =gadT=al  srTad®
STeRIT e, gEaRt
o9 GURUTcHe:  foehry

ot fereror
(4) TR (d) e wo feenets
sTqated WAl IO

EIERICHT
(D) (2) 3) (4)
@w @ ®» © @
B) (®) (a) (d) (c)
© © @ @ o
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13.

14.

15.

Division of society in present day

Corporate India is mainly on :
(A) Class

(B) Caste

(C) Social System

(D) Social Mobility

Teaching children through folk
songs and folk stories is method

[ P of culture.
(A) Transaction

(B) Avoidance

©) Transitioﬁ

(D) Transmission

Imitating the mores and customs of
some groups by other groups in
India, is called as :

(A) Socialisation

(B) Westernisation

(M Qanclrriticatinn

13.

14.

15.

(A) =

(B) Sird

(C) HTHEISh HeeYl
(D) graTfetes Tfdgierd

et SRR o SR

(A) SSTUTEETOT
(B) a=H

(C) AR
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16. Teaching of religious tenets of a

17.

single religion is against........... ereereeens

in India.

(A) Freedom of speech
(B) Seculafism

(C) Parliament

(D) Democracy

“Money makes money and honest
money making is not a sin.” This is
the heart of Protestantism.

‘Protestantism is the root of

Capitalism’ so said :
(A) M.N. Srinivas
(B) Max Weber

(C) Kurt Lewin

17.

(D) <3maEr

“Hgr der=n fafdd wwE enfw
g T fhesfan, o™ AL ®
TR TUE HA 3R 3 wHIvi I
ME I WREIAfTER  EdeE
q@ e

(A) TH. T sifEe

(B) g 9

(C) = wfer

~ -~
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18,

18,

20.

‘Right to Education Act’ proposes to

provide education for :

(A) all between 6 to 14 years

(B) all upto 14 years

(C) all upto 18 years
(D) all upto 21 years

Introduction of Television has

resulted in development of :
(A) Mass education

(B) Computer education
(C) Higher education

(D) Vocational education

“Development of personality and
acquisition of culture are one and
the same process.” This is found to

be true in :
(A) Tribals
(B) Corporates

(C) Professionals

20.

(A) 59 T8 6 T 14 TEliel wd
(B) 14 T TENRTETE wd
(C) 18 a8 FERTETETE Hel
(D) 21 o FEMERETE T
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21.

22,

23.

“Pedagogy of the Oppressed” has

been written by :

(A) Paulo Freire

(B) B.R. Ambedkar

(C) Mahatma Phule

(D) M.K. Gandhi

Modernisation in reality implies :
(A) Change of residence

(B) Change of values

(C) Change of gadgets

D) Chénge of dress

“Material aspect of culture changes
faster than Non-material part of
culture.” This idea of cultural lag

was given by :
(A) Arnold Toynbee
(B) Bertrand Russell

(C) Ogburn and Nimkoff

22.

23.

AR,

(A) Tremaea™ sgerd

(B) Hed seeAd

(C) =Rl Seared seerol

(D) HRTE SR
“Hemdren oifts S=n seana a3
AT Yoo S e S

Al & GEhdl UTErIATE Shed

(A) 3fAfes rgel
(B) sigie Wd
(C) 3fmed emfor foert®
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24. “Promotion of an employee to higher

25.

post due to acquisition of

qualification” is an example of :

- (A) Vertical mobility

(B) Diagonal mobility
(C) Horizontal mobility
(D) Circular mobility

......................... is not a definition of

Educational Psychology.

(A) Application of principles and
techniques of psychology to
study the behaviour and

experiences of students

(B) Study of ‘what’ and ‘why’ of

education

(©)

Applied positive science

(D) Employing scientific methods to

study behaviour of individuals

25.

(A) focareafar eHYa 9 a1 1R

FIOS! TS qedie @
EICEEERIEE
(B) foreromdiar ‘s’ & ‘o1’ W SR
(C) YA &HTcHsh  Tme

(D) sFerdt=aT SeIfores  aTaraRuITdlc

JATE AT FIOATS! ST
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26. According to various experts, the

27.

following is not a definition of

intelligence :

(A) The ability to learn from

experience

(B) The ability to adapt to one’s

surroundings

(C) The ability to understand and
control one’s own thinking

process

(D) The ability to learn language

and mathematics

The following refers to a process in
which students use information
supplied to them to construct

knowledge :
(A) Group discussion
(B) Inquiry learning

(C) Discovery learning

(A) e =F=t

(B) g==1 wfvreror

(C) e 31T
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28. Students who learn Civics very

29.

sincerely may not show civic sense
in their day-to-day life. This
statement is related to........................

theory of transfer of learning.
(A) Bagley

(B) Thorndike

(C) Judd

(D) Pavlov -

Radha’s ;ceachér notices that Radha
frequently holds her book very
close to her face while reading and
asks a lot of questions about

has been

information that
presented on the blackboard.
Radha’s teacher might want to

refer Radha for the following :
(A) Hearing impairment
(B) Learning disability

(C) Cerebral palsy

29.

e ffesa o waE 3 @
e GHF HASEd. g8 drad 9

waarerl fafgeean Afgder = 994

(B) 3Aegq TRt eH

(C) WFe urerEt
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30. Children use code language in their
group. This is a characteristic

0] ST stage of development in

children.

(A) Pre-childhood
(B) Later childhood
(C) Adolescence
(D) Adult

31. A major orders ‘attention’ and all the
soldiers take specific position
immediately. This type of learning

is known as :
(A) Verbal associative learning
(B) Signal learning

(C) Motor learning

31.

foermamaed qeur o

(A) To-aTemEEen

(B) ST-dTcdmaEea

(C) UrTeTasd

(D) s

Ao ‘\rEeE’ 3Rl oT= SfFeR < 9

dichles. G Weh1 fafymse feedia 39

(A) V=€ 9ead eqTH
(B) Hehd 313

(C) & ATIT
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32. Satish is not able to perform well in
examination. He then focusses his
attention and energy on Sports and
excels in it. This is an example
of i type of defence

mechanism.

(A) Projection

(B) Rationalisation
(C) Repression
(D) Compensation

33. The Rorschach testisa.....ccccoevvueennnn.
type of test.

(A) Situational

(B) Projective

(C) Rating Scale

(D) Sentence Completion

34. A teacher smiles at a student who
answers a question correctly. This
18 an eXpple Ol osvamesis s

reinforcement.
(A) Positive and Verbal

(B) Verbal and Negative

(Y Necative and Nan-verhal

(A) FEmTufteq
(B) w&rTo

(C) wefe==a goft
(D) = i

34. fRerer SRR W oo faeneatane e
erSIM S {drd. % ...................... q g
T 3Te

(A) YT o IMfsgen

(B) vMfsgsh 9 HoUcHh

(C) RUMHF o WM<
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35. Vocational guidance means :

(A) Creating skills required for a

specific vocation

(B) Improving performance in

different vocations

information about

(C) Giving

different vocations

(D) Developing appropriate attitude

towards a specific vocation

36. ‘Porteus Maze Test’ is an example
of :

(A) Verbal Test

(B) Performance Test
(C) Non-verbal Test
(D) Paper-Pencil Test

37. An organised body of concepts,
generalisations, and principles that
can be subjected to investigation

is :
(A) Theory

{B) Hypothesis

(Y Acciimmn +inn

36.

37.

(A) fafdre FeaREES STavas

TR o s

(B) fafay sqer@mmitel sHrEfamR gamom
ERLRISIC]

(C) fafay =agmE=t Afed JvamEmRE!

(D) faftre =eEmEEEa 9rg gies
frmtor sheoarErel

(B) el =meoft

(C) 3mmfsseh <m=on

(D) wrE-Ufwe ==l

Y g F® HU TS =

f& o= 79 doour, TdaEIEH

(B) ufeqn
(C) TEIds® (Assumption)

wrenws StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

38. To make rectification in a particular
situation.......cccoeeeveveeeennnnnn, research is
conducted.

(A) Applied
(B) Action
(C) Policy
(D) Basic

39. Variables in research must have a
VETY PrecCiSe.......cccvvveeeennnennnn definition.

(A) General
(B) Conceptual
(C) Nominal
(D) Operational

40. The most efficient and effective
method of generalising about the
views of large groups is :

(A) Survey
(B) Case study
(C) Ex-post facto study

(D) Historical research

41. The random sampling error can be
reduced by :

(A) Selecting sample twice
(B) Reducing population size

(C) Increasing sample size

39.

40..

41.

(A) ITEIfSd

(B) el
(C) YRUcHS

(D) qAYd

GINYATA Tl 37d hIehR

RS ATAT qIfESl.

(D) TS

AhT=AT TSI =T foamr= A= ien ol
HIITET Fala Sred gerw Arfur
IO R GG
B

(A) HA&

(B) SAfRis1=g

(C) ¥ R AY

(D) Ufqerfas e

(A) T T e

(B) SEEAAl THR HHT HEA

(C) H 3R T

b o} C () N
(MY AGITSTT TRATITIATIIT A=A
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42. The Ordinal variables have................

43.

44.

or more ordered categories or levels
and the responses are not normally

distributed.

(A) one

(B) two

(C) three

(D) four

A process of bringing multiple types
of data to bear on the problem, using
the different techniques to study the
issue from different angles is
called.............. .

(A) Generalization

(B) Triangulation

(C) Application

(D) Construction
.......................... is useful for an
appropriate estimation of the

population mean on the basis of

sample means.
(A) ‘Type of distribution’

(B) ‘Standard error’

(r‘\ ‘nQ(TT‘DQC I\F 'FT‘DDA(\YY\,

43.

44,

TEed JeAE fafay geehAmgT ™

FOIHIS! forferer e SudnT e sgfay
TR Aifedl Gehferd wIvar=l ishan
R — i

(A) HH=IRT

(B) €™ (Triangulation)

(C) SuaSH

(D) =

THAT (Sample) HEIHTATAT STTYRTEN
FAHEAT HEAHATE gATA wifed

ERRCIIRCIGH
(A) ‘faaomen ger’
(B) ‘wETOT A

(C) ‘Taretaan
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45. When the distribution under study
is too small, the most appropriate

measure of variability is :
(A) Range

(B) Average deviation
(C) Quartile deviation
(D) Standard deviation

46. A situation in which a researcher’s
expectations of study results
contribute to producing the outcome

is called.........cce.... .

(A) Experimenter bias
(B) Experimenter effects
(C) Researcher effects
(D) Researcher prejudice

7. B st facts are verified in

Empirical Research.
(A) Observation
(B) Experimentation

(C) Observation and Experience

46.

47.

(A) fomr
(B) " fa=erd
(C) =g foeem
(D) wHTR  fer=re

e E = I B EIE R R NI Ca e

STUEITE TN Hiddme) I foo

(A) TR ST (bias)
(B) wAWTRcater qRomd

(C) wiereRrn aRomd

(D) welEeRt=l qaus (Prejudice)

(C) Tlammr g sryvar=n
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49.

' 50.

............................. is the most accurate

and desirable method of recording

,academic performance of an

individual.

(A) Paper-Pencil Test
(B) Direct Observation
(C) Structured Interview
(D) Achievement Test

The flexibility to penetrate beyond
initial answers and redirect the
inquiry more fruitfully is possible
in :

(A) Structured interview

(B) Unstructured interview

(C) Formal interview

(D) Structured and formal

interview

To test the music ability of an
individual....................... is the most

appropriate tool.
(A) Achievement test

(B) Aptitude test

49.

50.

(B) gy e

(C) Hfaa Hemed
(D) HuRA ==l

gEardten oo Sau=a afdse SsH
ifedt fetfavarn defaendr stgor e
ARG IRt sAfauarardl fegm g o

(A) wXfaa gered

(B) TRfad Hemad

(C) =i e
(D) Giferd amfor sfroenfier Herer

U@ A=l G & qUrIvaTEet
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